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@3x+y:8,—x+y:4 @ 2x+y=10,x—-y=1
® 3x-2y=9,x+4y=17 @ x-y=-3,3x—-y=-5
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8. T I¥A A 0= AABC Y ¢J4olth /OAB = 10°, zOBC =
30°, LOAC 9] A7]=?

@® 40° @ 45° @50° @ 55° ® 60°

/OAB = /OBA, /0OBC = /OCB, /OAC = /OCA°|2 &
/OAB + /OBC + £OCA =90°
.. LOAC = /OCA =90°-40°=50°




D 105° @ 115° @ 125° @135° ® 145°

£COD = /OAD + /ADB, /ADB = 35° — 25° = 10°, ZADB =
/DBC = 10° = y O|t}. /x + /z = 180° — 35° = 145° ot}
wh2bA| zx — £y + £z = 145° — 10° = 135° o]t}
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ACol 4R 44 Mg e ol ape |
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@® 75° @ 70° ® 20° @15" ® 10°

£ADH = 90° — 20° = 70°
(B = /D = 85°
. tHDC = 85° — 70° = 15°
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o te T &4 o2 A2

@ AAEH = ACGF @ ADGH = ABEF
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w}2lA oEFGH & 5 9] s o] Zol7} 7zt e
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e 1EL A = 90° Q) Azl SR
_]

= 1 D A
ABC ol BAH A 2 Avke AR 1991 H  gers *
B,C oA Z+zt 4 BD, CE & 1. Zolth. pem
B C

DE 9] do]=?

@ 4cem @ 5cm ® 6cm @7cm ® 8cm

~&B ~

AABD 9} ACAE o4 /BDA = /AEC = 90°, AB = CA o]1!
AABD ©f|A] /DBA + /BAD = 90° o] 1L

/BAD + /CAE = 90° |22 /DBA = /CAE

.. AABD = ACAE (RHA &%)

BD = AE, DA = EC °|E&
~DE=DB+EC=4+3="7(cm)




16. & a8 A 0 & /0 = 90° §1 A ZHAH7HY ABC <] HIH 9]
Z3oltt. /OCB : /OCA =2 :3 4 o, /x & 275 F5tot.

A

D 105° @ 106° @ 107° @108° ® 109°

B ~

21 Zkarzt o] HiH ol 49l H 0 & 94o] Fl2=&8 OB =
OA = OC o|t}.
/OCB: /OCA =2:39°|B=2

2 o __ 2 o ___ o
/OCB = 2Jr3><90 = 5><90 = 36
LOCA = 3 X 90° = §><90° 54°

T 243 5

AOBC = o|5H4Zgol2& (- OB = 0OC) OBC =
/OCB = 36° ]2
A7+ Y Zhe] 3.719] go] 180° ©] B2 /BOC = 180° — 36° —
36° = 108°
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HPArH Y ABCD ©o| A /DAC =
60°,/,/DBC = 30° ¢ u, /BDC 9] 37|

D 65° @ 20° @ 25°

W
L O\

/ADB = /DBC = 30°
LAOD = 180° — (60° 4 30°) = 90°
AAOD 2} ACOD ©f| 4]

/AOD = /COD,AO = CO

OD = &50|2=2

AAOD £} ACOD = SAS gHsolth,
. LADB = 30° = /BDC
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® DE = 12cm

@ BC = 19cm

® ADEC*E 3474

@) aDEC ] £ ol 21em
® pABCD 9] E8]9] Zo]+= 50cm

S5
/B = /C =60°, AB =DC = DE = 12cm©|2& ADEC =
o] FH Az olt}.
(C = /DEC = 60°
uw2bA ADEC+E WZho] =% 60° o] 22 H4zto|tt, - EC =
12(cm)
/B = /DEC°]2&2 AB//DE°|1, AB = DE = 12cm°|2&
ODABED = H Aol
AD = BE = 7cm
-~ BC=BE+EC=7+12=19
w24 pABCD & 9] Zo]E= 74 12x 2 + 19 = 50(cm) ©]t}.
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@32cm @ 33cm @ 34cm @ 35cm ® 36cm

~&B

AADC 2 ABEC (AA B2)
AC :BC=DC :EC

18 :(BD+4)=4 : 8
4BD + 16 = 144

4BD = 128,BD = 32




